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Template Code:

print "Z|CH & JHp=2"
n=input()

print "1, 2, 3, 4"
t=input()

star(n,t)
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List, Tuple and Dictionary

=71 012 4=

e | |st

1 = [9: 1, 2, 3, 4]

* [uple

Tt = (@) 1, 2, 3, 4)

* Dictionary

d = {'zoonoo': 12,

NEore &

'egg': 13, 'chaos': 12}
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List, Tuple and Dictionary

Sequential Data Type

o | st

>>> a = [0, 1, 2, 3, 4]
>>> type(a)
<type ‘list’>

— Mutable: LHE9| 7t

>»> a = [1, 2, 3]
>»> a[l] = 5

>>> a

[1, 5, 3]



1

712X X2 =S

List, Tuple and Dictionary

Seqguential
* [uple

Data lype

>>> b = (0, 1, 2, 3, 4)

>>> type(b)
<type ‘tuple’>

— Immutable:

= =) £ =
of t Zl= MorH LR gl=

HiZ= = BiC

>>> b = (1, 2, 3)
>>> b[1] = 5

Traceback (most recent call last):
File "<string>", line 1, in <fragment>
TypeError: 'tuple' object does not support item assignment

>>> b
(1, 2, 3)
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List, Tuple and Dictionary

Seqguential
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TZCHH 0]21 A7

>>> ¢ = ([1, 2, 3], [2, 3], [5, 6])
>>> type(c)

<type ‘tuple’>

>>> type(c[0])

<type ‘list’>

>>>

>>> c[0][e] = 4

>>> ¢ = ([4, 2, 3], [2, 3], [5, 6])
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List, Tuple and Dictionary

Liste] Crfer oA
e listappend(1)

>>> a = [0, 1, 2, 3, 4]
>>> a.append(5)

>>> print a

(6, 1, 2, 3, 4, 5]
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List, Tuple and Dictionary

| iste] C}ol M AE=

| | = . .

« ' join(list)
>>>a=['e', '1', '2', '3',
>>> print ', '.join(a)

o, 1, 2, 3, 4

o, 1, 2, 3, 4

4]
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List, Tuple and Dictionary

List2 Er2Ior i

* map

>>> a = [0, 1, 2, 3, 4]

>>> square = lambda x: x ** 2
>>> print map(square, a)

[0, 1, 4, 9, 16]

map(<gre>, <EHef ZAES)
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Slicing

» Seqguential Data Type0f| Stej N EXE

SO a|AEO| HBS &t & Qrt

>>> a = 1[0, 1, 2, 3, 4]
>>> b = a[0 : 3]
[0, 1, 2]

>>> ¢ = a[2 : 4]
[2, 3]
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List, Tuple and Dictionary

Slicing

* Sequential Data Type0]| Stej M EXt<E

SO 3|AE0| BES X3t & Qurt

d

al0] a[1] a[2] a[3] a[4] a[5] al6] a[7] a[8]
a[-9] a[-8] a[-7] a[-6] a[-5] a[-4] a[-3] a[-2] a[-1]
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List Comp

e O|O| OF=0
JAEZE Of

Dictionary

‘enensior

X 2AEE O
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>>> orig = [0, 1, 2, 3, 4]
>>> b = [2 * x for x in orig if X % 2
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List, Tuple and Dictionary

List Comprehension A&

<« G O gle >

Previous 8 9 10 11 12 13 14 15 16 17 Next

« SAXY MO|X| & F2 57 0| X|

13 #5ix m|0|X|
range(page-5, page+5)

» 0|2/ Kt addl. 3 ANz 71 S2X| ECHH?
1A I[O|X[7t 5 Ofot2 f':'j?
3-2-10123456

>>> page
>>> orig
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List, Tuple and Dictionary

List Comprehension A&

<« G O gle >

Previous 8 9 10 11 12 13 14 15 16 17 Next

>>> page = 13 #9ix{ H|O|X|

>>> orig = range(page- -5, page+5)
>>> articles = 160 # & AHAIZ =
>>> new_list = ???

Hint: (x>0) and (x<(2+(articles-1)/4))

>>> b = [2 * x for x in orig if X % 2 = 0]

St

Sk ol 2|lAE e
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List, Tuple and Dictionary

List Comprehension A&

<« G O gle >

Previous 8 9 10 11 12 13 14 15 16 17 Next

. St H[O|X|0fl AHO| AAZ

>>> page = 13 #3X{ m|O|X]|

>>> orig = range(page-5, page+5)

>>> articles = 160 # & AA|IZ ¢

>>> new_list = [x for x in orig if (x>0) and
(x<(2+(articles-1)/4))]

>>> print new_list

[8, 9, 10, 11, 12, 13, 14, 15, 16]
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List, Tuple and Dictionary

Dictionary
 Key—\Value Pair

>>> bookl = {"keyl": "valuel", "key2": "value2"}

>>> bookl["key3"] = "value3" #==7}
>>> bookl
{'key3': 'value3', 'key2': 'value2', 'keyl': 'valuel'}

>>> del bookl[“keyl”] #X| 7
>>> bookl
{'key3': 'value3', 'key2': 'value2'}
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Dictionary

* Key—\Value Parr
- Y2 QNS Sk= 0] OfL|2} key2
valueOf| SetCt
— M7 DHEE] UX| L
— AM &2 H2 7| & 4~ QUL

C1 /1 —
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List, Tuple and Dictionary

e for =1 274 MH A

>>> SPARCS = ('onion', 'chocho', 'leejeok', 'mandu’,
"daedoo’)
>>> for member in SPARCS:
print member + "= AZIA J|RI0|X|F"
oniones AZIA F&0|X|E2
chochom= AZIA S|RI0|X|=
mandus= AZIA S|RI0|X|=

— ———

daedoo= AIZIA 3F|HO|X|=
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List, Tuple and Dictionary

foree ArEer I tip

for i in range(n):

L

for i in xrange(n):
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List, Tuple and Dictionary

Or=71 71 valueE 2|AERE A6
2|1 1 2|AE = GHIE AXE}H |

movies = ['les Miserables', 'Dead Poets Society', 'Love Actually']
singers ['Lee Jeok', 'Jaurim', 'Norah Jones', 'Frank Sinatra']
courses ['SP', 'Analysis I', 'Calculus II', 'DiscreteMath’,
"Environmentalism’ ]

I_I
N S S T RO T e T
i

zoonoo = {}

zoonoo[ 'movies' ] = movies
zoonoo|[ 'singers’ ] singers
zoonoo|[ 'courses ' | courses

zoonoo[ 'movies'].append('300")

print zoonoo[ 'movies"' ]
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Module
mport

* import math
* Import datetime
* mport csigraphics
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Module

mport
math E=01 &2

>>> from math import *
>>> pi
3.141592653589793
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Module
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mathet= E=0|A] 'sin() 2} 'cos() =
importaf M o ZHs BHoteE 1S 2

= 542 DISXY

fSilel;

sin® (x)- cos () =1
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Class

=3fA Of|A] — OTLO| Zto

@ Zoonoo@bit: ~,-’oafotlfagps.-'limetable!m_odelé.p}f [63/226) - VI

- onul 1=True)

ating', related_name='lecture_rating', null=True, blank=True)

-, through="Time ' null=True, blank=True)




nul 1=True)

nul 1=True, blank=True)

nul 1=True, blank=True)

self title)

_relation.all()))

1in or mt o begin tt end) and mt

for mt in
for t )
it onot (mt . tt nor mt, in == tt end) and mt

return Fa
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Class

Method Dﬂ* /EHIHE

>>> class person(object) :
def init (self, name, year, major):

def _ str_ (self):

def change_major(self, new):
self.major = new
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Class

AKX constructor

s =Es Ve s o Ol E
>>> class person(object)
def init (self, name, year, major):
self.name = name
self.year = year
self.major = major

>>> zoonoo = person('BtEL', 12, 'FArstI")

>>> print zoonoo
<_main__.person object at Ox7fe700977710>
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Class

o AIMA DR} IPE 7X|= subclass
SPARCSIAN Z2{A Bt=7|
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Exception

—xceptionO |27
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Exception

—xceptionO |27

* T/ =X
1. Syntax bError: SEEIQ] O =

2. Exception: BEES StX|2t Xglial 4~ = A
« 022 Lt5= 4% ZeroDivisionError
’ Tﬂ I} =AE Hol= 4% Typekrror
o HHOI= LHOJA QIEIA AEZ IndexError
. EU@ME'_I(HI o= keyE A2t 42 KeyError
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Exception
try, except’t = 85

>>>python noexception.py

find the inverse of :E)

Traceback (most recent call Llast):
File "noexception.py"”, Lline 4, in <module>
inverse(x)
File "noexception.py"”, Line 2, in 1inverse
print (1.6/x)
ZeroDivisionError: float division by zero

* 0247 LIAM 22 020| ELIHE!
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Exception
iry, except’7t Q= 85

#exception.py

def inverse(x):
try:
print (1.0/x)
except ZeroDivisionError:
print "The number has no inverse. Try again"
X = input('find the inverse of :')
inverse(x)
else:
print 'No Error!’
X = input('find the inverse of :')
inverse(x)
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Exception
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Exception

Al

— =

e« HAAS no1 * no2 H AlSHGH= m=2 72k

for i in range(nol):
for j in range(no2):
print i + j

No11f no27t MEX| 2ot oAt 82
raise= A& exceptionS S0{0f St}
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Lo

» data.pyQl=:
— activity2l= class& 4

— activityE parent2 7HX|i= subclassS=
5%7H ':,'_H:A‘HO eg) /\7I-<7I-O|> %Ol_a %




et
£ s

S|

 data.pydil=

— student2t= classE & oLt BtEMR, &
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* data.py
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* man.py

from data import




